PRACTICE 4A

Find the value of each of the following:

(a) (b) (c)
1. 253 +8 368 + 40 476 + 57
2. 509 + 128 670 + 186 764 + 166
3. 202-9 357-70 402 — 82
4. 532 -500 642 — 162 830 — 244
5. 843 — 289 267 + 356 804 — 269
6. A durian weighs 900 g.

A papaya weighs 550 g.
(a) Which is heavier, the durian or the papaya?
(b) How much heavier?

7. Raju weighs 39 kg.
His father is 28 kg heavier than he.
(a) Find the weight of Raju’s father.
(b) What is the total weight of Raju and his father?

8. A mango weighs 280 g.
A pear is 60 g lighter than the mango.
(@) What is the weight of the pear?
(b) Find the total weight of the mango and
the pear.

9. The total weight of an apple and a pineapple
is 840 g.
The apple weighs 90 g.
(a) Find the weight of the pineapple.
(b) How much heavier is the pineapple than the
apple!?
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